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4.3.4

(1) 2-1

H=85.0m V=500 m3

V= 240 m3 V= 240 m3 2

V= 230 m3 V= 150 m3 V= 60 m3

2 23 A= 8ha 140



(2) 2-1

H=94.0m V=1,200 m3

V= 90 m3 V= 110 m3 1

V= 230 m3 V= 150 m3 V= 60 m3

2 23 A= 8ha 140



(3) 2-2

H=98.4m V=1,040 m3

V= 110 m3 V= 110 m3

V= 230 m3 V= 150 m3 V= 60 m3

2 23 A= 8ha 140



(4) 2-2

H=98.4m 103.0m V=1,490 m3

V= 50 m3 V= 50 m3

V= 230 m3 V= 150 m3 V= 60 m3

2 23 A= 8ha 140



(5) 3-1

H=98.4m V=1,040 m3

H=80.0m 84.0m V=950 m3 1,210 m3

V= 40 m3 V= 60 m3

V= 230 m3 V= 150 m3 V= 60 m3

2 23 A= 8ha 140

H=80m 84mH=80m 84mH=80m 84m



(6) 3-2

H=98.4m V=1,040 m3

H=80.0m V=950 m3 1,600 m3

V= 230 m3 V= 150 m3 V= 60 m3

2 23 A= 8ha 140



(7) 3-3

H=98.4m 104.0m( )
V=1,040 m3

H=80.0m V=950 m3 1,600 m3

V= 230 m3 V= 150 m3 V= 60 m3

2 23 A= 8ha 140

H=98m 104mH=98m 104m



(8) 4-1

H=80.0m 84.0m
V=950 m3 1,210 m3

V= 170 m3 V= 230 m3 1

V= 230 m3 V= 150 m3 V= 60 m3

2 23 A= 8ha 140



(9) 4-1

H=80.0m 84.0m
V=950 m3 1,210 m3

H=70.5m V=0 m3 460 m3

V= 120 m3 V= 160 m3 1

V= 230 m3 V= 150 m3 V= 60 m3

2 23 A= 8ha 140



(10)  4-2

H=80.0m
V=950 m3 1,600 m3

V= 160 m3 V= 230 m3 1

V= 230 m3 V= 150 m3 V= 60 m3

2 23 A= 8ha 140



(11)  4-2

H=80.0m
V=950 m3 1,600 m3

H=70.5m V=0 m3 460 m3

V= 120 m3 V= 160 m3 1

V= 230 m3 V= 150 m3 V= 60 m3

2 23 A= 8ha 140



(12)  5

V= 290 m3 V= 290 m3 2

V= 230 m3 V= 150 m3 V= 60 m3

2 23 A= 8ha 140

1,500




